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INSTRUCTIONS TO CANDIDATES

Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted n,or missing pages or items, etc. If any
of the above defects is found, get it replace mplete Question Booklet of the
available series.

Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

Enter the name of the Subject, Reg. Ne., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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™ 1. Planting of trees is called
a) Deforestation
¢) Over grazing

a) ©S0,T08
C) 5303NT BoeoROLT

2. Expand NIOSH.

d IS sJTITIS

d) None of the above
NIOSHS Q%0 TR

d) 0D CeHTR B,

3. Vermi-composting is

d) None of these
:ﬁmrmoeeraemn‘ ZTolnle]

SoONERT), SERTS, Eoeﬁ’ 38030898

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupatlo@ ervice Health 1

¢) National Institute of Occupational @eE/Health

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health
¢) National Institute of Occupational Safety and Health

a) Decomposition of waste by aerobic bacteria
b) Decomposition of waste by anaerobic bacteria
¢) Decomposition of waste by earthworms

a) EBWIE B3 23,3 O0IRRPOT T, %,FIY DIV
b) &@%3% C3 aa}ie@aimn’@oﬁ EDAA aaig{ LTIEERORYTO
C) BBFLDOT T, %, B wwﬁa@m
d) RoedT CRTR ©Q,

SS-776

b) Afforestation
d) Reforestation .

b) eﬁdrééeﬁdea
d) SoTd T3, eTTD

S &5 8458 58T S SIS TS IJdS
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4. Thermal decomposition of organic matter at high temperature in presence of
limited amount of air/oxygen is

a) Gasification b) Pyrolysis

c) Aerobic digestion d) None of these

[ AW T, BT Mo% | 3233 2538 WIBIVTEITEA), OB SITINITY, TR
TOBODT TGN SOH DI

a) @980 b) Foodrz*

C) YT 363 TedFs, 0 d) S0edI adnYyze 98

5. Any waste generated by household, commercial or institutional activities and
is not hazardous is

a) e-waste 8 b) industrial waste
C) municipal solid waste M d) rubbles

odn)se 3, %, T r&&%éﬁ@omr@, %{é&s (SlamAn) moﬁ%ﬁ WROTEFNYoN®
SUBEOINNT), e EmOd)Ea@Qimﬁcgﬂﬁ%@e SECERC Ry

a) Q=T K, b) gned® o, %,
c) &Py ;bmaﬁt:g d) a’ez;,absa.gg
6. Diabetes is due to lack of secretion.
a) Thyroxin b) Insulin c) Penicillin d) Glutamin
AT 7 WBTAT EpvZcvos BoFDoem V0N
a) r%oaia‘ b) axbd* c) HRO* d) nRst

7. The most common reason for death due to outdoor air pollution is

a) Ischemic heart disease b) Malaria

¢) Typhoid d) Jaundice
s{blentelatay mcﬁnmedﬁaod VOETNOE e HaSee ROWRT, T20L
a) AT B,m, et b) Jedah

C) ¥ soonm* d) sz deen
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8. Among these which is not a communicable disease ?
a) Tuberculosis b) AIDS
c) Diabetes d) Influenza
QNS 03N RRecsd TRENSE, ?
a) 303 Geen b) »&®
o ™~
C) RDTRD d) qmwoi)og_a

9. Malnutrition is

a) Excess of nutrients

b) Over eating

c) Lack of essential nutrients S /W

d) None of the above SCW L
CELbY 20w8

a) ©& JUWR m’a%@oﬁé

b) ©803RT ST XETS

C) BN, Zpemsa0Bny 803

d) SO BRJTR B,

10. Which one of the following is a non persistent pesticide ?

a) Chlordane b) Dieldrin
c) Malathion d) Aldrin
33 FINTIYNEE), BRPTO WO ACOBCRQT 3e3T0TT ?
a) 8peges’ b) 89 3°
o ERO7 @)
c) aimasm@cxima‘ d) 9 &°
@)
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11. Biodegradable plastics are
a) Plastics are designed to undergo deterioration when exposed to sunlight
b) Plastics that contains sugars can be broken down by soil bacteria
c) Degradable plastics usually breakdown into smaller pieces of plastics
d) All the above
2 D8 DPLeoD TRAF N By
a) NPT 30NN L.Bmrt FZmnEed DT, ANRPAT TR T D
b) =83 VOTTIY TRAFT N0 BeISYT0 23,8 OCIRNIPOT XT3
C) DFEReCL TAF T R, TON 3T WRTONedN Depsodnngs
d) adome

12. Hazardous waste should be t%' coloured bin.
a) Blue , $C W Green

¢) Yellow .d)Red
BTCDT0 9, 24,333 ORI LT BuTY mogdesd 9
a) Qed b) @ah
c) YO d) soz)
13. Biogas contains ____ratio of methane and carbon dioxide.
a) 60 : 40 b) 80:20 c) 70:30 d) 90: 10
¥ 0T RO egen B @ 3 SHS JENER), 81 URDTRITE) Brodd
a) 60 : 40 b) 80 : 20 c) 70 : 30 d) 90: 10
14. Dermatitis is problem.
a) lung b) heart c) kidney d)/ skin
TROF 8 833° 2,070 R,
a) BB b) & zods C) [e3,&H0Bs d) 2303
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15. Polio drops are administered to the children of which age group ?
/a{ 0-5 years b) 5-10 years
c) 0-2 years d) above 10 years
CIRE WODAT Moo Woger Hpedadn @ W) §RmdET ?
a) 0-5 =&F b) 5-10 ==F
c) 0-2 I=F d) 10 S=F Soewt),

16. Enrichment of water body by excess amount of nutrients is called as

a) Biomagnification b) Bioaccumulation
e) Mineralization d) Eutrophication
ReOF SEONYO memosm@@ azo totrionss gSct0zd
a) %08 SoFs W) o % Ror, Be

C) DIeTED d) QTOeS Fogd

17. The most important food crop in India is

a) Rice b) Wheat c) Soyabean d) Ragi
TS 58 aooaaﬂ e;sa;tjt;mqg
a) ©8 (12) b) Reed® c) Rreotnest d) ooh
18. The process in which soil particles become detached by wind or water isi'
called
a) Siltation b) Erosion
¢) Salinization d) Compaction
Mo® BE0 QedR0TIN RS Feaned wiesmr @ 803001y, Goerfomh §d0dwzT
a) TRYETTD b) xS
C) ©Be3esTed d) Xodeesds (Fod),e30ed)
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19.

20.

Ozone which protects earth ang living organisms from harmfyul Yy radiation
is present in

a) Troposphere
t}f Stratosphere
C) Biosphere

d) Mesosphere

a) éi@,ee‘ﬁ;aciabcf _
b) = wﬁi@fﬁgg&bc‘ BMS C

c) uoifaef?:oi)of W
d) meﬁfaeiabc‘

a) E. coli count

b) Concentration of dissolved OXygen
c) Sait Concentration

d) All the aboye

a) }. 3ped F2063°
b) oA SOl w] 00T, 3
C) B AR08

d) eSS weme |
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21. Which of the following is not a type of e-waste ?
a) discarded TV sets
b) discarded computer printer paper
c) discarded cell phones
d) discarded computer monitors
3 SYB0BYNE, IR V-39, 5,38 ?
a) VTCIRENY DT 3.8, eI '
b) evmcinena X F03dR,WO* &,0830° TN
C) SUTOIRENR R B TR NTL
d) evTodReNd SRT a*o?graag L3T° [WRLLIT*NED

22. lodine deficiency causes 8/14 S C
Waneer

a) Goitre

c) Asthma d) Diabetes
£303R BT BRTICWOTNIE T

a) n¥no® b) &,3T°

c) vxdeen d) SopoRoem

23. Bioplastics are made from

a) Corn starch b) Soyabean

c) Both a) and b) d) None of these
o 0% TRRF* TINW WRWNEOT BRBORIS

a) SoFEeeds roz b) Reecdnwes®

€) a) =L b) 2TER d) S0¢dT BRPTe B,
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24. The Stockholm conference of united nations was held in the year
a) 1968 b) 1969 c) 1971 d) 1972
ROOI0E TRV it Beo ﬁd%esfa"m‘% 33 TR IBTeowB)
a) 1968 - b) 1969 c) 1971 d) 1972

25. The thickness of ozone layer is measured in
a) Newton b) Joule
c) Dobson d) Decibel
MesToliorniotn; CHBI), R TRTTR), WHRBROE BFDOIROIS 9
a) SRz &MS b) Rer

C) wows* CW d) @dees

26. Study of cancer is called as

aj oncology b) entomology
C) biology d) cellular biology
T, 0° et e, 0TI Loeriomd s3atwTT
a) SoFes b) “otdezners
| C) wodners d) :Swﬁmc‘ woes

27. The maximum permissible limit of nitrates in drinking water is
a) 45 mg/l b) 79 mg/ c) 100 mg/I d) 250 mg/!
@00 QORY, F 3 et NOT 0TS Q08 DT ?
a) 45 mg/| b) 79 mg/ ¢) 100 mg/! d) 250 mg/!
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28. Night blindness IS due to the deficiency of
a) Vitamin B b) Vitamin C
¢) Vitamin A d) Vitamin K
QTOHONER, (08, ﬁad)céaza)é; F200 QWO aiméﬁé (3203)
a) QBT W b) eIV X
C) NI D d) De30T* 3
29. Ozone hole formation is maximum in
a) India b) Europe c) USA d) Antartica
5, B0Ree" COG,ERrdNE a9, B3 W,
a) LRoe b) ojwdraemg /14 c) 030.0F .. d) e50E33F 8
30. Which among these is a natural aerosois.c
a) Salt b) Soot
-¢) CFC d) None of these
Bs 2PL0BRTE). CINTTO gRNEE ood0s,® ?
a) o) b) Zer =%
c) CFC d) 6O SRITP B,

31. Chlorine added to water acts as
b) Absorbent

d) None of the above

a) Disinfectant
¢) Coagulant

20T BReO* ), BeOATIN DTRZTE ?

a) Ameosd H0E b) EoeDERTLE MO

C) modaaméeiow‘ (éwbﬁwgfom TCITF) d) Soeds oIRPTER VY,
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39. The chemical name for alum is

a) Aluminium chloride b) Silver nitrate

¢) Aluminium sulphate d) Copper sulphate
'BOOTS ComoHE Bxdy

a) ©R A0 BRed b) R®0* & &3 eese

C) SETORARSevblel :deieés‘ d) szTo* xcz)ebs‘

40. Which is the best method to handle biomedical waste ?
a) Dump in Sanitary landfills
b) Open dumping 8 /14
¢) Ocean dumping SCW
d) Incineration
| 08 13 sead BB ABF &I BT A
2) X, 2630 RLINVE) JeoRr3d
b) 33z ERUNTE) HROJYH
C) RR0T,3A DFcdommd
d) t3%e80e

41. Unani medicine approach first started in

.. a) India b) Greece
:" c) England d) USA
AT &3, deod [ Spcen 302, O 9E),
a) yus b) nex¢
C) oriom® d) cdoama
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42. Urine infection may be due 10

a) Mosquitoes b) Using public toilets

C) Entamoeba d) None of the above

008, wREONS 2peodN 0L
a) AR%, b) MO WRT FFoO0D WSRO
C) «0E3RW d) FoeO oSnRRP O,

43. Poorly nourished lakes are known as
a) Oligotrophic
b) EutrophiC 8 /14
¢) MesotrophiC SCW
d) Xerographic
g TpeRFBD AR eSORYR, PV 2303oen8T ?
a) XRpeB 3R, FE3000000F
b) 0308, 8T
C) SRR, T
d) HoRere,$T

44. Food rich in Vitamin C is

a) Lemon b) Garlic
c) Papaya d) Mint
2 539, 0N oDl o0%, Crenle)
a) oW BER, b) 30%
¥ ¥
c) WOoh T, d) Do
i e i et
SPACE FOR ROUGH WORK

a



———

$S - 776 16 [

45. The pollution caused by transportation/vehicular activities depends on

46.

47.

a) Age of the vehicle b) Type of engine

c¢) Traffic congestion d) All the above

BT ORI BROT, ) BB, HTWOOWAT

a) DOBIT B|OPRY, b) TOBTT OV WO
c) Nowas B d) 0O QP

Sodium is usually estimated by which of the following analytical technique ?
a) Flame photometry b) Coulometry

c) High pressure liquid d) Chromatography
RReRO0 BRI ON FINT Q{Lf@w&gm@' DTOTOOT S0TRIRINIBE 7
a) mﬁdaﬁ: Pperdeadoes, m) BrecdReadts,

C) ©5T W3IBS B3 d) Seorzom,

Occupational hazards found in workplace are

a) Noise, heat, vibration, radiation

b) Certain chemicals and biological agents

c) Poor sitting position and lifting heavy objects, work stress
d) All above

TOF RITY, SO BHR, eNT BTN A

a) 3w, HBOT, BODTN, NV

b) $o) d0FH, TORROIIBNE 0B DT Do nTd

) BrexRTPOS ﬁ)@@gim@%m? DR POTTT WRINTSY, DBFT, FORE FowOR z

RRTE LIB
d) 0O QTP

SPACE FOR ROUGH WORK
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48. Balanced diet is a diet that contains the proper

—
.:_ a) Proportion of carbohydrates

.; b) Fats and vitamins

.: c) Proteins and minerals

.; d) All of these

; B03ReHT SHTHOTT BT, FOOINRT BBREOTY, LANRLOBEY

- a) TURRFEE N )T F,
.; b) iraw% EAVEY eﬁa:‘;tormm

a C) p eL3enrieh 02) VBTN

; d) 2edT VTP BMS

™ 49. Acid depositions can occur via natural sourcg;l'@

®  a) Volcanoes b) Heavy rain
» ¢) Heavy wind d) All the above
D o) BesdTmo A0IT FANFE SO SRVT BRI
-] a) 23RN b) ode =%
> ) Roowsme d) SO QTP
’ 50. The life time of nitrous oxide in the atmosphere is
’ a) 8 yrs. b) 10 days
: c) 114 yrs. d) none of these
: TTIRTETY F 37 9T TS 22e00nQ
5 a) 8 ==F b) 10 &3
X c) 114 S=F d) ST SRR B
- SPACE FOR ROUGH WORK
y
)
B




52.

53.

practices ?

a) Using chemical fertilizers b) Using insecticides
¢) Organic farming d) None of these
swocs@ﬁve:; CIRTYT/ gy 3, 03 Te3s WONT % edo 824 Dzog 9
a) DTN riraz.gd one evmodnen b) seesozwny Tedeer
C) Jxnrg B & Ao d) Soedx RJTe %
Cardiomyopathy can cause such Symptom as

a) Shortness of breath b) Fatigue

c) Both a) and b) d) None of these

SR O3Red0dRems ol O eary S CW

a) YVATHLE Znomy b) weez

c) a) BB b) 20w d) Soedz AR ©Q

a) Silicosis

b) Silicosis and asbestosis
¢) Lung cancer

d) All the above

Ezﬁrad ens ,*g#dg QePrme 205 qiraemgl Y0 2 @%?Ci}ame.qaﬁab Bafel-
a) AdBpex s

b) 29Bnpexs O e%?&% CRT®
c) JMAERCST 5, 30¢

d) Soed YR

SPACE FOR ROUGH woRk



\u
T - SS - 776

54 “The national level programme to get total reproductive health” is called as

a) Family care b) Family planning
c) Family organization d) Reproductive care
“To 030 WOWT FOTPLF FOTTRT S SBREN, FO00FE,TO"BTY, boertomd
FG030TT
a) BoE0OW BT F b) sedow odnews
C) BOEOW HOTFEID d) Fozdnpeds g

. Group of individuals of the same §emes that share common attributes is

called
a) Community lg)—\ lation
c) Ecotype d) Society

TOWIT, n’oewﬁm AN, B0UWBRYS 2:,003¢ 250803 =, ne MooTY, DJoWo
édcﬁ:mrbgﬁ ?

a) RTOTCD b) w&=oss,
C) wdped T d) =R

_ Excess nitrates in water bodies causes

a) Neurosis b) Flurosis

c) Blue baby syndrome d) Chlorosis
2eOR SFORYE BP0 §H3 FROCTRNE TOBR

a) ®e,BReaT (Jodween) b) ®Redeeax’
c) Ded dBAT HOWER, T RT d) 3pedrerx
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57. Which among these substances are biodegradable ?
a) Plastic b) Aluminium
¢) Organic pesticides d) Tree leaves
3 8950 TR, gy & D% Dpesecddiieds 9
a) TR b) SR, A0
C) TWODI set3mozs d) OTT 2eSnel

58. Adverse effects of modern agriculture js
a) Water pollution
b) Soil degradation

¢) Water logging &MS
ey,

d) All the above

TGO 8 & ARG B8R0 TOFm WeAd
a) mﬁm@a&

b) IS T3

C) Jed0oz a%amrbaﬁ

d) Seds DO

59. Climate change will also cause

a) Floods b) Droughts

¢) Both a) and b) d) None of the above
BSOTRT ag,wae@:z@ AT VoL BRI

Q) Tz b) wo a:méé

C) a) 0B b) av@e d) HedT By S0
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60. Air consists largely of
a) Nitrogen b) Oxygen
c¢) Carbon dioxide d) None of the above
moe émwﬁ [RINTY, BROOT
a) oI b) sxss
C) voRen F &8 = d) S0edT cIRPTe e

a) Carbon monoxide 8 b) Methane

c) Nitrogen trioxide S d) Hydrogen peroxide

TV VT (3G, )3 agprar THITS, BOSRE SoCct0RROF,FCE A
a) aOMOUE BeJE b) Qogient

C) mTHITS 8, 8 d) moxsss Do (=

62. Noise pollution cannot cause
a) Increased blood pressure b) Increased level of cholesterol
c) Headache d) Jaundice
20, BRI, B2 TOBOTOTTY, HVOLL BRBFDY,
a) B oERRSH b) BB 8y sodn Rows

-

h

~~

™

»

-

™ 61. The air pollutant released due to incomplete combustion of fossil fuel is
-

~

™

»

»

~

-

-

-

o]

» c) 333ne d) =R deen
™

63. Fluorosis affects

»

- a) Kidney - b) Liver c) Bone d) Brain
; TRECREAT® BTV BoeeS 23 TOFT VeI

3 a) B30z b) o¥ B c) =g d) Somosh
> SPACE FOR ROUGH WORK
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64.

a) seRw b) 53,8030 C) 9B%° d) %B{g‘
65. Expand HDI.

a) Human Development Indices b) Human Disease Index

c) Hypersensitive Disease Index d) None of the above

HDIg &m0 dew 8/[48

a) Human Development Indices C Human Disease Index

c) Hypersensitive Disease Index d) Koeds adnITe B
66. The secondary atmospheric pollutant among these is

a) Carbon monoxide b) Nitrous oxide

c) Sulphur dioxide d) PAN

31 $TFCBINIY TOTRTHT Q3ectd BROT,FTE BN

a) QOMPYT VTt T8 b) F = g =

c) nogwa ats:j e:sﬁ” & d) @, (PAN)
67. Behavioural risk factors of health include

a) alcoholism and smoking b) drug addiction

¢) inadequate physical inactivity d) all of these

TBESODHYF STODFIO L0INED VYN, wWIRROBTUWRTD

a) ST TITT Newd TR BT b) IXIE08NE BeI

C) RSB T %3 23eeeI8 d) S¢S 0T

Which among these toxic chemical is responsible for low bone density (itai-itai)
disease ?

a) Asbestos b) Cadmium c) Arsenic d) Dioxin

B3 899808 TGO TORRCDBNTE. CRITD 30 &% FoR 8 Broen (ﬁwaow—fa&aaoﬁa)ﬁ
FOUED ?

SPACE FOR ROUGH WORK
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68. Plastic bags of thickness less than microns are banned in many
parts of India.
a) 30 microns b) 40 microns
¢) 50 microns d) 80 microns

69.

70.

29,89, N0z SN muE BeONT) yPUST wFes T, TeBNGE).
QeI

a) 30 H&,a b) 40 &,
C) 50 &, d) 80 5, éa

Culture encompasses the set of

a) Beliefs & /14 b) Moral values
S

¢) Tradition and language OWH the above

N0, 8030 [ns h’%@ﬁ

a) ToRENH b) § 33 m’aogrm
C) X0, w0 TR 1 d) S0e03 w03e

Dust pollution is not responsible for

a) Asthma

b) Bronchitis

¢) Wheezing

d) Kidney stones
BIBOBHNGS. Broed BRI, DOTRTTRT
a) e xdeen
b) TOXTIPNT DTS
C) WIS s
Q &
d) SR8 00ns sey.
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